
6.5 Combination Circuits 

 

1.  

 
 

VTotal= V1= V2= V3= V4= 

Io= I1= I2= I3= I4= 

RTotal= R1= R2= R3= R4= 

 

 

 

 

 

 

 

 

 

 

 

 

2.  

 

 

VTotal= V1= V2= V3= V4= 

Io= I1= I2= I3= I4= 

RTotal= R1= R2= R3= R4= 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3.  

 

 

VTotal= V1= V2= V3= V4= 

Io= I1= I2= I3= I4= 

RTotal= R1= R2= R3= R4= 

 

 

 

 

 

 

 

 

 

 

 

4.  

 

 

VTotal= V1= V2= V3= V4= V5= V6= 

Io= I1= I2= I3= I4= I5= I6= 

RTotal= R1= R2= R3= R4= R5= R6= 

 

 

 

 

 

 

 

 

 

 

 

 

 



5.  

 

 

 

VTotal= V1= V2= V3= V4= V5= 

Io= I1= I2= I3= I4= I5= 

RTotal= R1= R2= R3= R4= R5= 

 

 

 

 

 

 

 

 

 

 

6. Determine the power in the circled resistor 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


